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Cluster: 0145 ptr; resid: 0.28; r/c: 28/80

x.range

upstream meme PSSM #1; e=5.4

1 3 5 7 9 111 3 5 7 9
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upstream meme PSSM #2; e=160

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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43095−0.03
13617−0.15

3676−0.22
50027−0.28
13553−0.36
14646−0.46
49164−0.46
49880−0.92
13975−0.97
45403−1.07
36063−1.19
40753−1.29
45155−1.31
48084−1.47
47520−1.61
43885−1.77
48950−1.84
28374−2.44
45782−2.44
43469−2.51
43354−2.86
16222−3.26
49834−3.79
42900−4.04
43879−5.39
44600−6.15
50642−6.49

log10(P) upstream meme1 2 log10(P.clust)=−2.03; 28 seqs; 28 uniq
c(0.5, 2.5)
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